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2. Uprav pomaoci vzorei a vypotit
2257 =

425 =

30':3 =

3. Odstraii zivorky a uprav:

(3x —6y°)+(-9x* =55°)=

(6ab* +12ab - 5a7) - (9ab* + 6a’B)=
143" - (- 200" +32xs) - 15xs =
12kp-(4k = 5p)=
(7x+2y)-(6x-8y)=

4. Rozlo’ na soutin:

a) xXyextyl=

b)  25a°h'c* -15a"bc* =

) 12k m' +42K°m’ =

d)  (x+6)-(y=7)-(1-y)-2y+3)=
@ 26x'y° +169x°y =

) 124’0 -18a’b'c* =

8 16k m' +kimt =

) (x=6)-(y+8)-(7x+9)-8+y)=

6. Uprav podle vzoreis
(4x+6y) =

(6-k) =
(=3m+20) =

(4 +gf =

(2d +h)-(2d -h)=
4957 =36r* =

(6x+8y)-(6x-8y)=

7. Uprav podle vzorcii
(~04x+0,6y) =

(15-10s) =
(~0.8m—03k) =
(0c* +2¢*) =
(5b+7h)-(~5b+7h)=
1445~ 6257 =

(12x+13y)-(12x—13y)=




